
SHTEF
en Assembly instructions for Shtef shelves

de Montageanleitungen für Shtef Regalsystem

fr Instructions de montage pour Shtef système d'étagère  

hr Upute za montažu Shtef police 12
_

20
24

_
ve

r.
03



C  
71 cm 

28"

assembly fittings / montagezubehör / accessoires de montage / montažni pribor

horizontal link /  horizontaler link / lien horizontal / horizontalna poveznica

frame /  rahmen / cadre / okvir 

A  
111 cm 
43 ³/₄"

B
55 cm 
21 ³/₄"

05
w 59 × h 170× d 17,5 cm
w 23 ¹/₄" × h 67" × d 7"

04
w 114,5 × h 170 × d 17,5 cm

w 45" × h 67" ×  d 7"

01
w 114,5 × h 114,5 × d 17,5 cm

w 45" × h 45" × d 7"

02
w 59 × h 114,5 × d 17,5 cm

w 23 ¹/₄" × h 45" × d 7"

03 
w 114,5 × h 60 × d 17,5 cm

w 45" × h 23 ²/₄" × d 7"

en | Use only hand tools when assembling frames, shelves and compositions!
de | Ubei der montage von rahmen, regalen und kompositionen nur handwekzeugeverwenden!  

fr | Lors de l'assemblage des cadres, des étageres et des compositions, utilisez uniquement des outils a main!
hr | Pri sastavljanju okvira, polica i kompozicija koristiti isključivo ručni alat!.

w - width, h - height, d - depth

06
w 75 × h 114,5 × d 17,5 cm
w 29 ²/₄" × h 45" × d 7"

07
w 75 × h 170 × d 17,5 cm
w 29 ²/₄" × h 67" × d 7"

2



b01
w 55,5 × d 18 × h 18 cm
w 21 ³/₄" × d 7" × h 7"

c04
w 71 ×  d 27,5  × h 18 cm 
w 28" × d 10 ³/₄" × h 7"

a04
w 110,5 × d 27,5 × h 18 cm

w 43 ²/₄" × d 10 ³/₄"× h 7 "   

assembly fittings / montagezubehör / accessoires de montage / montažni pribor

c03
    w 71 ×  d 36,5 × h 18 cm   

w 28" ×  d 14 ¹/₄" × h 7"

a02
w 110,5 × d 27,5 × h 27,5 cm

w 43 ²/₄"× d 10 ³/₄" × h 10 ³/₄"    

a01
w 110,5 × d 18 × h 18 cm
w 43 ²/₄" × d 7 × h 7  

  b04
w 55,5 × d 27,5  × h 18 cm
w 21 ³/₄" × d 10 ³/₄" × h 7"

c02
w 71 × d 27,5 × h 27,5 cm  

w 28" × d 10 ³/₄" × h 10 ³/₄"  

B
59 cm
23 ¹/₄"

A
114,5 cm

45"

C
75 cm
29 ²/₄"

 legs / Beine / Pieds / nogice  

shelf / regal /  étagère / police w - width, d - depth, h - height

b03
   w 55,5 × d 36,5 × h 18 cm

    w 21 ³/₄" × d 14 ¹/₄" × h 7 "

b02
w 55,5 × d 27,5 × h 27,5 cm

w 21 ³/₄" × d 10 ³/₄" × h 10 ³/₄"

c01
w 71 × d 18 × h 18 cm 

w 28" × d 7" × h 7"

 a03
w 110,5 × d 36,5 × h 18  cm
w 43 ²/₄" ×  d 14 ¹/₄" × h 7"

3



m5×25

frame / rahmen / cadre / okvir  

m5×12

50×

2× 2× 2× 2×

2× 2× 2×

50× 50× 50×

m5×20

m5×12

2× 2× 2× 2×

1× 1× 1× 1×

4× 4× 4× 4×

4× 4× 4× 4×

3×3 cm

assembly fittings / montagezubehör / accessoires de montage / montažni pribor

m6×20

m6×12

parts
teile
parties
dijelovi  

4

01 02 03 04

2×

1× 1× 1× 1×
11×1,5 cm 



05 06 07

assembly fittings / montagezubehör / accessoires de montage / montažni pribor

× × ×

× × ×

× × ×

frame / rahmen / cadre / okvir  

2× 2× 2×

2× 2× 2× 2× 2×

2× 2× 2× 2× 2× 2×

50× 50× 50×

legs / beine /  pieds / nogice

× × ×1× 1× 1×

4× 4× 4×

× × ×4× 4× 4×

5

A B C

2×

× × ×1× 1× 1×



parts
teile
parties
dijelovi  

01 02 03 04

assembly fittings / montagezubehör / accessoires de montage / montažni pribor

tools
werkzeuge
outils
alat  

frame / rahmen / cadre / okvir  

1× 1× 1× 1×

1× 1× 1× 1×

1× 1× 1× 1×

1× 1× 1× 1×

4× 4× 4× 4×

4× 4× 4× 4×

11×3 cm

2,5 mm

3 mm

4 mm

6×50

6

8×40

set for 1 horizontal link /  
set für 1 horizontalen Link/ 
ensemble pour 1 lien horizontal/ 
set za 1 horizontalnu poveznicu m5×10

2× 2× 4×



05 06 07 A B C

assembly fittings / montagezubehör / accessoires de montage / montažni pribor

frame / rahmen / cadre / okvir  

× × ×1× 1× 1×

× × ×1× 1× 1×

× × ×1× 1× 1×

× × ×1× 1× 1×

× × ×4× 4× 4×

× × ×4× 4× 4×

legs / beine /  pieds / nogice

7

m5×10

2× 2× 4×
set for 1 horizontal link /  
set für 1 horizontalen Link/ 
ensemble pour 1 lien horizontal/ 
set za 1 horizontalnu poveznicu



2×

2×

2×

2×

en | vertical links assembly
Turn the frame so that the do�ed marks inside 
the sides remain on the bo�om of the frame 
and the group of 3 mounting holes is on the 
bo�om (for all frame sizes). Insert the ends of 
the links into the slots of the frame. Secure 
the links on the inside of the frame with M5×12
flat head screws using an Allen key. Secure the 
links on the top and bo�om of the frame.

de | installation von vertikalen link
Drehen Sie den Rahmen so, dass die 
Punktmarkierungen an den Innenseiten auf 
der Rahmenunterseite bleiben und die Gruppe 
der 3 Befestigungslöcher unten ist (für alle 
Rahmengrößen). Führen Sie die Enden der 
Glieder in die Schlitze des Rahmens ein. 
Befestigen Sie die Verbinder mit 
Senkkopfschrauben M5×12 mithilfe eines 
Inbusschlüssels an der Rahmeninnenseite. 
Befestigen Sie Links an der Ober- und 
Unterseite des Rahmens.

fr | installation de liens verticaux
Tournez le cadre de manière à ce que les 
points marqués à l'intérieur des côtés restent 
sur la face inférieure du cadre et que le groupe 
de 3 trous de montage soit sur le bas (pour 
toutes les tailles de cadre). Insérez les 
extrémités des maillons dans les fentes du 
cadre. Fixez les connecteurs à l’intérieur du 
cadre avec des vis à tête fraisée M5×12 à l’aide 
d’une clé Allen. Fixez les a�aches en haut et en 
bas du cadre.

hr | montiranje vertikalnih poveznica
Okrenite okvir tako da točkaste oznake unutar 
bočnih strana ostanu na donjoj strani okvira, a 
grupa od 3 rupe za montiranje bude na dnu 
(za sve veličine okvira). Umetnite krajeve 
poveznica u utore okvira. Pričvrstite poveznice 
s unutarnje strane okvira vijcima M5×12
upuštene glave pomoću imbus ključa. 
Poveznice učvrstiti s gornje i donje strane 
okvira.

dotted marks 
gepunktete markierungen 
marques en pointillés  
točkaste oznake

dotted marks 
gepunktete markierungen 
marques en pointillés  
točkaste oznake

3 mm

8

m5×12



en | upper part of the frame  
If no other frame comes above, close the 
holes with screws. Use flat head screws M5×12
and allen key.

de | der obere teil des rahmens
Wenn kein weiterer Rahmen darüber kommt, 
die Löcher mit Schrauben verschließen. Dazu 
Flachkopfschrauben M5×12 und Inbusschlüssel 
verwenden.

fr | la partie supérieure du cadre
Si aucun autre cadre ne vient au-dessus, 
fermez les trous avec des vis. Utilisez des vis à 
tête plate M5×12 et une clé Allen.

hr | gornji dio okvira
Ako na gornji dio okvira ne dolazi drugi okvir, 
zatvoriti rupe vijcima. Koristiti imbus vijke 
upuštene glave M5×12 i imbus ključ.  

en | legs
Place the legs under the frame structure. 
Tighten the screws from below. Use screws 
M5×20 and M5×12, follow the illustration. If 
the composition is free-standing install the 
legs a�er connecting the frames. 

de | beine
Platzieren Sie die Beine unter der Struktur. 
Befestigen mit Schrauben von unten. Verwen-
den Sie Schrauben M5×20 und Schrauben 
M5×12 entsprechend der Abbildung. Wenn die 
Komposition freistehend ist, montieren Sie die 
Beine, nachdem Sie die Rahmen verbunden 
haben.

fr | pieds
Placer les pieds sous la structure. Serrer avec 
des vis par le bas. Utilisez des vis M5×20 et des 
vis M5×12 comme indiqué. Si la composition 
est autoportante, installez les pieds après 
avoir assemblé les cadres.

hr | nogice
Postaviti nogice pod konstrukciju. Zategnuti 
vijcima odozdo. Koristiti vijke M5×20 i vijke 
M5×12 prema ilustraciji. Ako je kompozicija 
samostojeća noge montirati nakon spajanja 
okvira.

m5×12

m5×12

m5×12

m5×20

m5×20

m5×20

m5×12

m5×12

m5×12

9

4 mm

3 mm



en | freestanding shelf and legs assembly
Position the frames back to back and tighten 
them with m6×20+m6×12 screws through the 
same holes used for wall mounting. Then 
connect the legs B vertically under the frame, 
and tighten them with m5×12 screws.

de | freistehendes Regal / montage der beine
Positionieren Sie die Rahmen Rücken an 
Rücken und befestigen Sie sie mit Schrauben 
m6×20+m6×12 durch die gleichen Löcher, die 
auch für die Wandmontage verwendet 
werden. Verbinden Sie dann die Beine B 
vertikal unter dem Rahmen und ziehen Sie sie 
mit m5×12-Schrauben fest.

fr | étagère autoportante et assemblage des 
pieds
Positionnez les cadres dos à dos et serrez-les 
avec des vis m6×20+m6×12 à travers les 
mêmes trous utilisés pour le montage mural. 
Connectez ensuite les pieds B verticalement 
sous le cadre, et serrez-les avec des vis m5×12.

hr |  montaža samostojeće police i nogica
Pozicionirati okvire leđa uz leđa i kroz iste rupe 
koje se koriste za zidnu montažu zategnuti ih 
vijcima m6×20+m6×12. Spojiti noge B okomito 
ispod okvira i zategnuti ih vijcima m5×12. m5×12 m6×20

6×50

6×50

6×50

6×50

6×50

10

m6×20

m6×20

m5×12

m5×12

m6×12

m6×12

m6×12

4  mm

8×40

8×40

8×40

8×40

8×40

en | wall mounting with or without legs 
Use 8×40 dowels and 6×50 phillips screws for  
wall connection. Mount the shelf in the wall 
through the holes on the vertical links. 

de | Wandmontage mit oder ohne beine
Zur Wandbefestigung verwenden Sie 8×40 
Dübel und 6×50 Kreuzschrauben. Befestigen 
Sie das Regal durch die Löcher in den 
vertikalen Verbindungsstücken an der Wand.

fr | montage mural avec ou sans pieds
Utilisez des chevilles 8×40 et des vis 
cruciformes 6×50 pour la connexion murale. 
Montez l'étagère au mur à travers les trous 
des connecteurs verticaux.

hr | montaža za zid sa ili bez nogica 
Koristiti tiple 8×40 i križne vijke 6×50 za 
spajanje u zid. Montirati policu u zid kroz rupe 
na vertikalnim poveznicama. 



en | connection plates  
Connection plates should be connected as 
shown on the illustration, always use m5×12
flat head screw as shown below.

de | Verbindungsplatten 
Verwenden Sie die Verbindungspla�en wie in 
der Abbildung gezeigt, immer mit m5×12-In-
nensechskantschrauben, wie unten gezeigt.

fr | plaques de connexion
Utilisez les plaques de connexion comme 
indiqué sur l’illustration, toujours avec des vis 
à tête Allen m5×12 comme indiqué ci-dessous.

hr | spojne pločice 
Spojne pločice koristite prema prikazanoj 
ilustraciji, uvijek s vijcima  imbus upuštene 
glave m5×12 kao što je prikazano dolje.

3×3 cm 

11×1,5 cm  

11 × 3 cm 

+

+

+

3 mm

m5×12

m5×12

m5×12

11



en | connecting frames verticaly
Set the frames one above the other, align  
connection holes. Connect the frames with an 
m5×25 flat head Allen screw and tighten. 

de | vertikale Verbindung von Rahmen
Legen Sie einen Rahmen über den anderen 
und passen Sie die Verbindungslöcher an. 
Verbinden Sie die Rahmen mit einer 
Inbus-Senkkopfschraube m5×25 und ziehen 
Sie sie fest. 

fr | assemblage vertical de cadres
Placez les cadres les uns au-dessus des autres, 
alignez les trous de connexion. Connectez les 
cadres avec une vis Allen m5×25 et serrez.

hr | vertikalno spajanje okvira
Staviti jedan okvir iznad drugog, uskladiti  rupe 
za spajanje. Spojiti okvire vijkom imbus 
upuštena glava m5×25 i zategnuti. 

12

m5×25
+3 mm

en | horizontal link

①Place the metal support plates on the 
appropriate holes on the sides of the frame. 

②Secure the metal plate with two plastic pins 
that need to be pressed through the plate and 
the holes in the frame until they are fully 
seated in position.

de | horizontaler Link

①Platzieren Sie die Metallstützpla�en an den 
entsprechenden Löchern an den Seiten des 
Rahmens. 

②Sichern Sie die Metallpla�e mit zwei 
Kunststo�sti�en, diese müssen durch die 
Pla�e und die Löcher im Rahmen gedrückt 
werden, um vollständig in Position zu sitzen.

fr | lien horizontal

①Placez les plaques de support métalliques 
sur les trous appropriés sur les côtés du cadre. 

②Fixez la plaque métallique avec deux 
broches en plastique qui doivent être presse à 
travers la plaque et les trous du cadre jusqu'à 
ce qu'elles soient complètement en place.

hr | horizontalna poveznica

①Metalne pločice postaviti na odgovarajuće 
rupe na bočnim stranama okvira. 

②Metalnu pločicu učvrstiti pomoću dva 
plastična pina koje treba pritisnuti kroz pločicu 
i rupe na okviru kako bi do kraja sjeli na 
poziciju.

m5×25

m5×25

push / drücken
pousser / pritisnuti

① ②



en | shelves
Set the shelf on horizontal link, align with the 
holes and fasten with flat head screws m5×12 to 
the vertical (back) slates of the frame. 

de | regale
Positionieren Sie das Regal auf der horizontalen 
link, passen Sie es an die Löcher an und befesti-
gen Sie es mit m5×12-Inbus-Senkkopfschrauben 
für die vertikalen (hinteren) links.

fr | étagères
Positionner l'étagère sur le lien horizontal, 
l'ajuster aux trous et la fixer avec des vis à tête 
fraisée Allen m5×12 pour les liens verticaux 
(arrière).

hr |  police
Pozicionirati policu na horizontalnu poveznicu, 
namjestiti na rupe i pričvrstiti vijcima imbus 
upuštena glava m5×12 za vertikalne (stražnje) 
poveznice.

en | Set the horizontal link on a metal plate. Slot 
on the link should be facing the back of the 
shelf. The link should be inserted so that it sits 
on the metal plates, fasten the link on both 
sides to the metal plates with an m5×10 flat 
head screws, allen wrench.

de | Positionieren Sie den horizontalen Link auf 
der Metallpla�e. Der Schlitz am Verbind-
ungsstück zeigt zur Rückseite des Regals. Der 
Verbinder muss so eingesetzt werden, dass er 
auf den Metallpla�en aufliegt, den Verbinder 
auf beiden Seiten mit Senkkopf-Inbusschrau-
ben m5×10 an den Metallpla�en befestigen.

fr | Positionnez le lien horizontal sur la plaque 
métallique. La fente sur le lien fait face à 
l'arrière de l'étagère. Le connecteur doit être 
inséré de manière à ce qu'il repose sur les 
plaques métalliques, fixer le connecteur des 
deux côtés aux plaques métalliques avec des vis 
Allen m5×10 à tête fraisée.

hr | Horizontalnu poveznicu pozicionirati na 
metalnu pločicu. Utor na poveznici okrenuti 
prema stražnjoj strani police. Poveznicu 
umetnuti tako da sjedne na metalne pločice, 
učvrstiti poveznicu s obje strane za metalne 
pločice imbus vijcima m5×10 upuštene glave.

m5×12

m5×10

13

m5×12

m5×12

3 mm

3 mm



Top shelf B 
Endregale B
Étagères  d'extrémité B
Završna polica B 

Top shelf C 
Endregale C 
Étagères  d'extrémité C   
Završna polica C

Top shelf A 
Endregale A 
Étagères  d'extrémité A   
Završna polica A

01, 03, 04 

 compatible frames / kompatible rahmen
cadres compatibles / kompatibilni okviri

02, 05 

06, 07 

Double C / Doppelt C
Double C / Dvostruka C

w 75 × d 39/57,5 × h 2 cm
w 29 ²/₄" × d   15 ¹/₄"/22 ³/₄" × ³/₄"

Single C / Einzel  C
Célibataire C / Jednostruka C
w 75 × d 19,5/28,5 × h 2 cm

w 29 ²/₄" × d 7 ³/₄"/11 ¹/₄" × ³/₄"

Single B / Einzel  B
Célibataire B / Jednostruka B
    w 59 × d 19,5/28,5 × h 2 cm

w 23 ¹/₄" × d 7 ³/₄" / 11 ¹/₄" × ³/₄"

Double A / Doppelt A
Double A / Dvostruka A

w 114,5 × d 39/57,5 × h 2 cm
w 45" × d 15 ¹/₄" / 22 ³/₄" × ³/₄"

Double B / Doppelt B
Double B / Dvostruka B

w 59 × d 39/57,5 × h 2 cm
w 23 ¹/₄" × d 15 ¹/₄"/22 ³/₄" × ³/₄"

assembly fittings / montagezubehör / accessoires de montage / montažni pribor

top shelves / endregale / étagères  d'extrémité/ završne police

Single A / Einzel  A
Célibataire A / Jednostruka A
w 114,5 × d 19,5/28,5 × h 2 cm
w 45" × d 7 ³/₄"/11 ¹/₄" × ³/₄" 

14

w - width, d - depth, h - height



en | end shelves - single, double
Place the single/double shelf on top of 1 or 2 
frames and connect the 2 or 4 connecting 
plates located on the bo�om of the shelf with 
the holes on the frame. Tighten all connecting 
plates with screws.

de | einzelner- doppelter, Endrgalee
Platzieren Sie das Einzel-/Doppelregal auf 1 
oder 2 Rahmen und verbinden Sie die 2 oder 4 
Verbindungspla�en unten am Regal mit den 
Löchern am Rahmen. Alle Verbindungspla�en 
mit Schrauben festziehen.

fr | d'étagères simples, doubles
Placez l'étagère simple/double au-dessus de 1 
ou 2 cadres et reliez les 2 ou 4 plaques de 
liaison situées en bas de l'étagère avec les trous 
du cadre. Serrez toutes les plaques de connex-
ion avec des vis.

Hr | završne jednostruke / dvostruke police
Postavite jednostruku / dvostruku policu na vrh 
1 odnosno 2 okvira i spojite 2 odnosno 4 spojne 
pločice smještene na dnu police s rupicama na 
okviru. Zategnite sve spojne pločice vijcima.

15

m5×12

en | parallel frames + top shelfs 
If the top shelves come at the top of the 
parallel frames, first place the shelves on the 
frame, then the connecting plates and secure 
with screws (last illustration).

De | Parallelrahmen + Endregale
Wenn endregale auf parallelen Rahmen 
platziert werden sollen, zuerst die Böden auf 
die Rahmen, dann die Verbindungspla�en  
auflegen und mit Schrauben fixieren (letzte 
Abbildung).

fr | cadres parallèles + étagères d'extrémité
Si des étagères d'extrémité doivent être placées 
sur des cadres parallèles, placez d'abord les 
étagères sur les cadres, puis les plaques de 
connexion et fixez-les avec des vis (dernière 
illustration).

hr | paralelni okviri + završne police
Ako na paralelne okvire dolaze završne police, 
prvo na okvire prisloniti police zatim spojne 
pločice i učvrstiti vijcima (zadnja ilustracija).

3 mm



headquaters & production
Pustodol Začretski 19 g
49 223 Sv. Križ Začretje
Croatia, Europe

prostoria showroom chicago
222 W Merchandise Mart Plaza,
3rd Floor, Suite 381
Chicago, il 60654, us

¢ info@prostoria.eu
www.prostoria.eu


